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| can solve any 3d + 2d

« park up the 100s
* solve the 2d add 2d
e add the 100s back on

(1)
What is the sum of 843 and 98?
Mully has 676L of orange juice in a barrel. He adds 76L more.
How much liquid is in the barrel?
Pom is 209cm tall. Pim is 87cm tall. How tall are they together?
(4] .
Speedy Col made a pile of 793 sweets. She put 38 more sweets
in the pile. How many are in the pile now?
5] )
Pim has 562 sweets. Pom has 76 sweets. How many do they
have altogether?
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« park up the 100s
* solve the 2d add 2d
e add the 100s back on

What is the sum of 843 and 98?

The answer is 941.

Mully has 676L of orange juice in a barrel. He adds 76L more.
How much liquid is in the barrel?

There is 752L of liquid in the barrel.

Pom is 209cm tall. Pim is 87cm tall. How tall are they together?

They are 296cm tall together.

Speedy Col made a pile of 793 sweets. She put 38 more sweets
in the pile. How many are in the pile now?

There are 831 sweets in the pile now.

Pim has 562 sweets. Pom has 76 sweets. How many do they
have altogether?

They have 638 sweets altogether.
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